NPN SILICON TRANSISTOR

H X 3199 KTC3199

B T=25
TO-92S5
Tstg—— -55~125
T — 125
Pc—— 200mwW :
VCBO__ — 50V 1— E
2— C
VCEO__ b 50V 3_ B
Veso—— — SV
lc—— 150mA
B T=25
BVcBo — 50 v Ic=10p A 1e=0
BVceo — 50 v 1c=100pu A 18=0
IcBo — 0.1 M A | Vee=50V, 1e=0
1EBO — 0.1 g A | Ves=5V, Ic=0
HFe 70 700 Vee=6V, Ic=2mA
VICE(sat) — 0.1 0.25 v 1c=100mA, 18=10mA
T 80 MHz | Vce=10V, Ic=1mA
Cob 2.0 3.5 pF | Vcs=10V, =0, f=1MHz
NF 1.0 10 dB | Vce=6V, Ic=0.1mA
f=1KHz Rg=10KQ
GR BL
70—140 120—240 200—400 350—700




